
 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

15- (35 ) –( -4 = )-16 

 س   16تنخفض درجة الحرارة بمقدار 

3 18-6=12 
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-7  ،-2 ،0  ،5  ،9  ،12 

< 

  ينقص المبلغ الموجود في حصالتها كل 14=6÷ 84

 ريال  14يوم بمقدار  

(-3 ،-3 ) 

 الربع الرابع

(-1 ،4 ) 

 الربع الثاني 

(5  ،-2 ) 

 الرابعالربع 
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-7 

13 

21 

-55 
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-22 

-2 
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-5 ×-12 ÷4=60 ÷4 =15 

(-5-4 ÷)3= -9 ÷3 =-3 

 ريال  60- =6× 10- قيمة السهم في نهاية الأسبوع=

https://hulul.online/
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